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# BN FERRBAR<U, F>H R PR & m ek ZUK
WA E Fid A £2(Closure), e AFY S
#]: CHR<U, F>, HHU={A, B,C}, F={A—B, B—C},
3R AR AR 1Y R AL El@ HEFT.
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A—C) //A3
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* B WOAEHRU EM—H R BUKE, XcU, X%
PR B AR F 1Y PF A9 (Closure of X under F) X" ={ A4 |
X—AREHF HREArmstrong/ NP H Y 6

* RXWEE:

(1) X O=X, =0;
(2) AXED=XOU L A4 |FV)(IW)YV—-WeFN\VXDANAec W)} ;

Q) HERAV-W eF, fFFXHD = X0, HyRgER, X, =X0;
A, i=itl, #(2)o
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#l: BHIRRBAR<U, F>, HU={4, B, C, D, E}, F=
{AB—C, B—»D, C—E, EC—B, AC—B }, 3K (4B);"

fit: (AB).*= {ABCDE }

(1) XS X5
(2) B—FEFHPIFD, WRAFAEV-WeF, HVH IR
PEAS A S ETRIX R, B ETEHW IR AX

(3) HHETHIXH & A alm e, B 4 (2) 38 [ F i i
A X Z X S IIAEA] J& ME SVR 4R
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EH: WANBRMHEU N —HRBIRE, X, YCU,
X—YEE HF MR35 Armstrong 2 L5 H ) 78 0 D B 56 /2 Y
CXr' o
EH: GEOMH)EY=AA,...A_, HY cX:*e HIXHIE LA
X—A(i=1,...m) BE MY, HEHMNIEX— AA,. . A,
Bl X—7Y.

(L) WF EX—Y, BN, X—A,ii=1,...m),

HIX T E XA5A,4,.. A, € Xt BIYCTX:
B BTDUR P2 R BRSO AR 1) P B F S s AR o 2 A
JE M EX R TFRMEX", 7] PAJT (AL R
EH: Armstrong AL RALSH T 5EAT .

A M 2 F8 HF H KR 8 Armstrong A BHE 5 )5 —FD#F
FEF T SERMEEFRFH & —FDE Al AFH A AR Y
Armstrong/~ B S IEF HI K. (GEHAEZLK)




